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Note: (1) Attempt all questions. (2) Figures to the right indicate full marks of the question.

Q.1
(1)

(2)
3)

(4)
(5)
(6)

(7)
(8)

9)
(10)
Q.2
(A)
(B)
©

Q.2
(A)

(B)

Q.3
(A)

Fill in the blanks with proper option. Write answers in answer book. [10]
Height of a student is an example of variable.
(1) Discrete (2) Continuous (3) Both
is known as repeatation of a numbers.
(1) Lower limit (2) Upper limit (3) Frequency

If X =20and M=18 than Z =

1) 14 (2) 16 (3) 15
Coefficient of variation is measures of dispersion.
(1) Absolute (2) Relative  (3) Both
Every square matrix has .
(1) Inverse matrix (2) Transpose (3) Determinates
is the probability of getting same numbers, while rolling two equal

dices.

1 1 1
(1) 3% 2) 5 3 2
By doing the sign of inequalities on the both sides changes.

(1) Inverse  (2) Multiple (3) Addition
While using a, b, ¢, d, m, n symbol in economic model, they are known as

(1) Constant (2) Variable  (3) Parameter
is known as ideal average.
(1) Mean (2) Medium (3) Mode
The value of probability will always be between and
(1) -1and O (2)0and 1 (3)1and O

Describe the variable and explain its various types. [05]
Give the meaning of Function. Describe any three types of function with [04]
appropriate examples.
In a two commodity market mode, following are the demand supply functions. [06]
D,=82-3P,+P,, S,=-5+15R,
D, =92+2P,—-4P, S,=-6+32P,

OR

What is an equation? Explain the various types of equation with appropriate  [07]
example.

The demand and supply function for a commodity are D =400 -4P and S =- [08]
100 + 6P respectively. Find the equilibrium, price and quantity for this
commodity. If a tax of Rs. 0.90 per unit is levied on this good. What will be

the change in market equilibrium?

Define Central Tendency. What are its measures? Which of is best? Why? [06]
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What is Data? Describe the types and various sources of data.
From the following data, calculate mean, median, mode and geometric
mean.
1,2,3,4,5,6,6,6,7,8,9, 10.
OR

What is Dispersion? Indicate its absolute and relative measures. Explain the
utility of relative measures of dispersion in economic analysis.

The data on weekly sales of two commodities are as follows:
Commodity-A 59 75 27 63 27 28 56
Commodity-B | 150 | 200 | 125 | 310 | 330 | 250 | 225
Which commodity has greater variation in sales?

Answer the following:
(1) Define Crammer's rule of Matrix Algebra.
(2) State the conditions for multiplication of any two matrices.

Find out Inverse Matrix of below given matrix and prove that, A A™" =1.

1 2 3
3 4 5
7 10 12

OR

Define:
(i) Symmetric Matrix
(ii) Identity Matrix

023 763
If A: B =

{214} {145}
Find out 2A+3B and A-B.

Explain the uses of Determinant.
Solve the following with the help of Crammer's Rule.
X+y+z=4
2X+y+3z=1
3X+2y—z =1
OR

What is input-output analysis? What are its assumptions?
What is Lorenz Curve? What is its usefulness in economics?
There is 1000 household in a universe. Out of these, 650 are farmers, 300
are farmers who are landless and 50 are others. 450 households live below
the poverty line. If one household is drawn from this sample trough simple
random sampling, Calculate probability that,
(i) Selected household is below the poverty line.
(i) Selected household is of a landless farmer.

OR

Define Probability. Explain in detail the concept of event and multiple and
addition rules.1

Explain the following with suitable examples.

(i) Primary data and Secondary data (ii) Discrete and Continuous Series
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